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29. �� =PQ �� !"#=�=PQ : QR = 1 : 5��
�=P ��=R �� !"#$

Q

P

R

A. 11.3°

B. 11.5°

C. 78.5°

D. 78.7°

30. �� =X �=PQ �� !"OX = 4.8�OQ = 6=�
OX ⊥  PQ��=PQ �� !

y

x

P

Q O

X

A. 4x − 3y − 24 = 0

B. 4x − 3y + 24 = 0

C. 4x + 3y − 24 = 0

D. 4x + 3y + 24 = 0

31. �� !"#$%&$'() *+,-./0
�� �!"#$%&=8 cm=� 4 cm�� =I=�
��=VIII �� !"#$%&'()*+,-*
�� !"#$%&=VI �� !

IX

VIII I

II

III

IVIV

VI

VII

A.
1

32

B.
3

32

C.
1

4

D.
3

4

32. ������ !=$10 �� !"#$�%&'()*+
�� !"#$%&'(

A. −$3.875

B. −$3.125

C. $3.125

D. $10



50

�� !"

7. y
x

x
y x x

= −
+

+ = −

1

1
1 1( ) 1A

xy y x

y x xy

+ = −
+ = −

1

1 1A
y x y+ = −1 1( ) 1A

x
y

y
= +

−
1

1 1A

(4)

8. (a) D �� 

= + +





=

0 4

2

2 4

2

2 3

,

( , )

 

 1A

(b)

AB �� 

= −
−

=

4 2

4 0
1

2
�=(x, 0) �=C �� ! 1M

CD �� 

= −
−

= −
−

0 3

2
3

2

x

x
∵ AB ⊥  CD

∴ 1

2

3

2
1

3 2 2

3 2 4

2 7

7

2







−
−





 = −

− = − −
− = − +

=

=

x

x

x

x

x

( )

1Μ

∴ C =�� ! 
7

2
0,  



 � 1A

(4)

��=AB ⊥ CD�� !"#$%#&'=−1 �

9. (a) 2 5
360

25

6
π π( )

∠
°





 =AOB

1A

10
360

25

6

360

5

12
150

π π∠
°





 =

∠
°

=

∠ = °

AOB

AOB

AOB 1A

(b)

��

= + ×

= +





25

6
2 5

25

6
10

π

π  cm 1A

�� !

=
+25

6
10

2

π

π
1M

= 3 67.  cm (�� !"#$%& ) 1A

(5)

10. (a)

2 cm

1.5 cm
5 cm

h cm





















��=C ��=x �� !"#$%& =y =�� !"

0�� =AB �� =CD �� !"#$%&

�� !"#$%&'#"()*+,-

�� !"#$%&'()*+,%-.



51

�� !"

�� !"#=h cm �� !"#$%
h h

1 5

5

2.
= +

1M

2 1 5 5

2 1 5 7 5

0 5 7 5

15

h h

h h

h

h

= +
= +
=
=

. ( )

. .

. .

1A
�� !"!#

=

=

1

3
1 5 15

11 25

2π

π

( . ) ( )

.  cm3 1A

�� !"!#

= +

=

1

3
2 15 5

26
2

3

2π

π

( ) ( )

 cm3 1A

∴ �� !"!#

= −26
2

3
11 25π π. 1M

= 15
5

12
π cm3 1A

(6)

(b) �� ! "

= 6
3

= 216 cm3 1A

�� !"#$

= −



216 15

5

12
π  cm3 1A

(2)

11. (a) � I = k1 + k2T
2��  k1 � k2 ≠ 0 � 1M

�T = 1000��  I = 150 000 000�

150 000 000 = k1 + k2(1000)2

150 000 000 = k1 + 1 000 000k2 ○ ○ ○ ○  (1)
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6. �� (I)

 A �� !"

1. �� 

a + b + c + d + e = 360° (�� )

2. �� !"#

a + b + c = 180° (�� !"# )

3. �� 

a = b (�� )

4. �� 

(a) a = b (�� !AB // CD)
(b) b = c (�� !AB // CD)
(c) b + d = 180° (�� !"AB // CD)

5. �� !"#

�� !"#$%&'()*AB // CD �
(a) a = b (�� !" )
(b) b = c (�� !" )
(c) b + d = 180° (�� !"# )
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18. ��  (II)

 A �� !"#

1. �� !

  ∆ABC�� =
    
= 1

2
ab Csin

� � = N
�� !"#$%

(�� !"#$%&'( )

��

∆ABC �� = 
  

1
2

12 16 110( )( ) sin °

= 90.2 cm2 (�� !"#$ )

����2. �� !

∆ABC�� = s s a s b s c= − − −( )( )( ) �

�� 
    
s a b c= + +1

2
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